ohaHA] 43 — 242 + 5x — 62 U] x— 22 s o] Y] =9

@0 @ 1 ® 2 @ 3 ®)4

~&B

flx) =x>-2x? +5x—6
=(x-2)0(x) +R
ff(2)=23-2.2245.2-6
=8-8+10-6
=4
S R=4




A flx )—x 322 4 kx—k7F x+ 12 Yro|Hoj R =2

O -3 @ -2 ® -1 @ 0 @1

g

k

1

, f(-1)=0°]22
~1)=-1+3-k-k=0, -~ k




E 5 dAA] x -1, x-22 Y= fo] Yz = 22 2,
L f()E X2 -3x+22 UE o Yeze?

10]t}. ol
O x+3 @—x+3 ® x-3
@ -x-3 ® —x+1

fx)Ex-1, x-2& e Y& 42 2,10|82
f(1) =2,£(2) = 1, 7= UHAE ax + b2} AL
f(x) = (x*-3x+2)Q(x) +ax+b
=(x-1)(x-2)0(x) +ax+b
4zt x =1, x=22 YA




A3 +2x+1=a(x-1)2+b(x—1) +c©] x°f

—

5

5

SA] ju o =
W, 4% b o e
® 3 @4+ 02 @s ® 6
B )
3x2+2x+1=a(x-1)2+b(x-1)+¢
=(x-1){a(x-1)+b} +c¢
1 3 2 1
3 )
1 3 95 6 < c
3
3|i =@
T
a
B ‘
x=12 Ut Hc=6
32 +2x+1=a(x-1)2+b(x-1)+6
-3 +2x-5=a(x-1)2 +b(x-1)
- (x=1)Bx+5)=a(x-1)2+b(x-1)
- FHS x-1 2 YA
3x+b=a(x-1)+b=ax—a+b
La=3,b=8
% 240 S BE AN A Totel 7 S5 o,




4 x—- 12 UHrH U2 = —40]0, I & x+22
FH YUz 20|t} oluf, f(x)E x+ 22 ‘)rE o] Y&
SHA 2.




6.

A £(x), g(x) oA f(x) & x? - 12 Yie YA 7F 20] 3L g(x)
x? = 3x + 22 UiE Y7} 2x 4 101t 2f(x) + 3g(x) S x - 1
Ve U 2] =7

@3 ©-13 016 @-16 6%

B

ku mlm

f(x)=(*-1)01(x) +2

o f(1) =2
g(x) = (x2 = 3x+2)Qa(x) + 2x + 1,
-og(l)y=3

2f(x) +
)+

3g(x) 8 x- 12 Y& UyHRE=
2£(1) + 3g(

g(1)=2-2+3-3=13




xO tiE ohaFA] 3+ ax? — x4+ b2 x—3 2 RS o B3 Ue 2=
ot 22 YA OR oL St a+ b+ c+d+ k9] HE
=23

@ 19 @ 20 @ 21 @ 22 @23

T 3 4 ax® —x+ b2 x- 32 U S mo] &3 YRS
ZHAYE o]-gsto] Fohd ohZt 2ot
1 a -1 b

3 3a+9 9a + 24

1 a+3 3a+8 | 9%+b+24

ol k=3,c=3,a+3=43a+9=d,9a+b+24 =37
olmg

k=3,c=3,a=1,d=12,b=14

ot g+ b+c+d+k=1+4+3+12+3=23




